Pre-Initialization Stage
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Big goal: calculate all P’-values



Initialization Stage
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- Setting all A-values to 1.0
- Set root node A’s T1-values to marginal Trobability
— root node A trivially done



Initialization Stage
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- A sends TT-messages to all its children (here: only B)
- Having received the marent’s T-message from A, B can
now comtute its 1r-value, which in turn leads to P’



Initialization Stage
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- With the utdated P’-value, B can now comTtute
TT-messages for C and D

- Having received these messages, C and D will comtute
its TT-values, which in turn leads to P’ and thus comTiletes
the initialization Thase



Evidence Promagation
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- Evidence C=c2 is reflected by setting P’ to the
shown distribution

- A-values do alike

- C sends A-message to B



Evidence Promagation

a; |04 1.0 04 - B receives A-message from C and urtdates its
4 |06 1.006 A-values (using the unmodified A-message of D)
- B utdates P’ (normalization necessary!)

- Post a TT-message down to D
A - Post a A-message utrto A

Apon = (0.24,0.44) I
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Evidence Promagation
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- Areceives A-message from B, utdates its
A-values and finally P’

- D receives TT-message from B, utdates its
1-values and finally P’



B is instantiated for b*

1 b=
1. Set Vb € Qp: P'(b*) =

0 b#0b*
2. Compute new A-values: Vb € Qp : A(b)
3. Post new A\-message X BoA

4. Post new m-messages VC' € s(B) : Tp_.c

Urdating B

B is not instantiated

B receives a A-message from C

. Compute new A-values: Vb € Qg : A(b)
. Compute new P’-values: Vb € Qg : P'(b)
. Post new A-message X Boa to A

. Post new m-messages to the other children:

VC/ € S(B) . C/ 7£ C ﬁB—>C’

B receives a TT-message from A

1. Compute new w-values: Vb € Qp : 7(b)
2. Compute new P’-values: Vb € Qp : P'(b)

3. Post new m-messages VC € s(B) : Tp_c

= s(B) = s(B)
1 if A is instantiated for a
Va€eQq: ma.pla)=1<0 if A is instantiated, but not for a
/\P& if A is not instantiated
BﬁA(a)
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